
Global Manufacturing, Inc®

1801 East 22nd Street
Little Rock, AR 72206
501.374.7416 TEL

501.376.7147 FAX

800.551.3569 TOLL FREE USA & CANADAGlobalManufacturing.com
A I R  B L A S T E R SV I B R A T O R SV I B R A T O R S

1
2

3
4

5
6

8
7

9

10

12

14
15

16

17

18

11

10

9
7

6
5

4
3

2

1

8

13

Parts List for DEG-900 & DEG-1200 Electric Vibrators - 60 Hz - 1 Phase

DEG-900-1  115 Volt (pn 6811009)
DEG-900-1  230 Volt (pn 6832009)

DEG-1200-1  115 Volt (pn 6811012)
DEG-1200-1  230 Volt (pn 6812012)

# Description Part # Qty # Description Part # Qty

1 Rnd Hd Screw 10-24 X ½" 333405 8 11 Stator not sold separately 1
2 Cover 117348 2 12 Wire Nut - see Note (1) 450296 note (1)

3 Lock Nut ¼" - 20" 334204 8 13 Lock Nut ½" 450440 1
4 Lock Washer ¼" 338104 8 14 Cord Restraint ½" 450435 1

5 Hex Bolt ¼" - 20 x ¾" 330007 2 15 Terminal Ring #10 16-14AWG 450262 1

6 Adjustable Weight 196412 2 16 Electric Cord 450319 1
7 SCS Screw ¼" x 20 x 1" 336910 2 17 Rotor 1 Phase not sold separately 1
8 Fixed Weight 196312 2 18 Draw Bolt 1/4 - 20 x 10 ½" 340211 4
9 Housing 148048 2 Rotor/Stator Assy 115/230V 461400 1
10 Bearing 6304 2RS 380304 2
NOTE (1): Quantities for wire nuts based on voltage.

115V=2 each    230V=3 each

DEG-900-1200-1PH_01/16/17 Copyright 2016 © Global Manufacturing, Inc



Global Manufacturing, Inc®

1801 East 22nd Street
Little Rock, AR 72206
501.374.7416 TEL

501.376.7147 FAX

800.551.3569 TOLL FREE USA & CANADAGlobalManufacturing.com
A I R  B L A S T E R SV I B R A T O R SV I B R A T O R S

Parts List for DEG-900 & DEG-1200 Electric Vibrators - 60 Hz - 3 Phase

230 Volt Models	 460 Volt Models	 575 Volt Models

DEG-900-3	 (pn 6832009)	 DEG-900-3	 (pn 6834009)	 DEG-900-3	 (pn 6835009)  
DEG-1200-3 (pn 6832012)	 DEG-1200-3 (pn 6834012)	 DEG-1200-3 (pn 6835012)

# Description Part # Qty # Description Part # Qty

1 Rnd Hd Screw 10-24 X ½" 333405 8 11 Stator not sold separately 1
2 Cover 117348 2 12 Wire Nut - see Note (1) 450296 note (1)

3 Lock Nut ¼" - 20" 334204 8 13 Lock Nut ½" 450440 1
4 Lock Washer ¼" 338104 8 14 Cord Restraint ½" 450435 1

5 Hex Bolt ¼" - 20 x ¾" 330007 2 15 Terminal Ring #10 16-14AWG 450262 1

6 Adjustable Weight 196412 2 16 Electric Cord 450319 1
7 SCS Screw ¼" x 20 x 1" 336910 2 17 Rotor 3 Phase not sold separately 1
8 Fixed Weight 196312 2 18 Draw Bolt 1/4 - 20 x 10 ½" 340211 4
9 Housing 148048 2 Rotor/Stator Assy 230/460V 463200 1
10 Bearing 6304 2RS 380304 2 Rotor/Stator Assy 575 V 463230 1
NOTE (1): Quantities for wire nuts based on voltage.

230V=4 each    460V=6 each    575V=3 each

DEG-900-1200-3PH_07/20/16 Copyright 2016 © Global Manufacturing, Inc

1
2

3
4

5
6

8
7

9

10

12

14
15

16

17

18

11

10

9
7

6
5

4
3

2

1

8

13



Global Manufacturing, Inc®

1801 East 22nd Street
Little Rock, Arkansas 72206
501.374.7416 TEL

501.376.7147 FAX

800.551.3569 TOLL FREE USA & CANADAwww.GlobalManufacturing.com

COPYRIGHT 2013 - Global Manufacturing, Inc DEG-1300-2000 230-460-575V_01/23/13

16
15

23

1

23
4
56

7
8

9
2021

24

23
2221

20

14
13

12
11

10

9
8

7
6

4
51 3

2

17

19

1818

Parts List for “DEG” Large Electric Vibrators - 60 Hz - 3 Phase - 230/460 Volt

230 Volt Models 460 Volt Models 575 Volt Models

DEG-1300-3 (pn 6932013) DEG-1300-3 (pn 6934013) DEG-1300 (pn 6935013)  
DEG-2000-3 (pn 6932020) DEG-2000-3 (pn 6934020) DEG-2000 (pn 6935020)

# Description Part # Qty # Description Part # Qty
1 Rnd Hd Screw 10-24 X 1/2” 333405 8 14 Wire Nut 73b - see notes (2) 450296 note (2)

2 Cover 117356 2 15 Stator 3Ph not sold separately 1
3 Bolt Hex 1/4- 20 x 1” 330010 2 16 Lock Nut 1/2” Conduit 450440 1
4 Weight - Adjustable 194706 2 17 Cord Restraint 1/2” 450435 1
5 SCS Screw 1/4-20 x 3/4” 336907 2 18 Terminal Ring 450262 2
6 Weight - Inner 194806 2 19 Cord Electric 6 ft. 16/4 450319 1
7 Lock Nut 5/16-18 334205 8 20 Bearing 6306 2RS 380306 2
8 Lock Washer 5/16” 338105 8 21 Retaining Ring 5100-118 349118 2
9 Housing 148056 2 22 Draw Bolt 5/16-18 X 12” 340312 4
10 Screw Hex 8-32 X 1/2” note (1) 4 23 Key 3/16” x 3/16” x 1/2” 345803 2
11 Cover Junction Box note (1) 1 24 Rotor 3Ph not sold separately 1
12 Gasket Junction Box note (1) 1 Rotor/Stator Assy 230/460V 463500 1
13 Foam Packing note (1)      1 Rotor/Stator Assy 575 V 463700 1
NOTE (1): 

Included with Rotor/Stator Assembly.

NOTE (2): Quantities for wire nuts based on voltage.

230V=4 each    460V=6 each    575V=3 each



Global Manufacturing, Inc®

1801 East 22nd Street
Little Rock, Arkansas 72206
501.374.7416 TEL

501.376.7147 FAX

800.551.3569 TOLL FREE USA & CANADAwww.GlobalManufacturing.com

COPYRIGHT 2013 - Global Manufacturing, Inc DEG-2500-3000-3500 230-460-575V_01/23/13

1

2
3

4
5

7
8

19

17
16
15

20
21 22

11
12

13
14

23 24
25 26 27

26 25 22
23

21 20 9
8

7

6 5
4 3

1

10

9
18186

2

Parts List for “DEG” Large Electric Vibrators - 60 Hz - 3 Phase - 230/460 Volt

230 Volt Models 460 Volt Models 575 Volt Models

DEG-2500-3 (pn 6932025) DEG-2500-3 (pn 6934025) DEG-2500-3 (pn 6935025)  
DEG-3000-3 (pn 6932030) DEG-3000-3 (pn 6934030) DEG-3000-3 (pn 6935030)
DEG-3500-3 (pn 6932035) DEG-3500-3 (pn 6934035) DEG-3500-3 (pn 6935035)

# Description Part # Qty # Description Part # Qty
1 Rnd Hd Screw 10-24 X 1/2” 333405 8 15 Stator 3Ph not sold separately 1
2 Cover 117356 2 16 Lock Nut 1/2” Conduit 450440 1
3 Bolt Hex 1/4- 20 x 1” 330010 2 17 Cord Restraint 1/2” 450435 1
4 Weight - Adjustable 194706 2 18 Terminal Ring 450262 2
5 SCS Screw 1/4-20x3/4” 336907 2 19 Cord Electric 6 ft. 16/4 450319 1
6 Weight - Inner 194806 2 20 Bearing 6306 2RS 380306 2
7 Lock Nut 5/16-18 334205 8 21 Retaining Ring 5100-118 349118 2
8 Lock Washer 5/16” 338105 8 22 Hex Bolt 3/8”-16 x 1” 330210 2
9 Housing 148056 2 23 Weight - Fixed 196601 2
10 Screw Hex 8-32 X 1/2” note (1) 4 24 Draw Bolt 5/16-18 x 12” 340312 4
11 Cover Junction Box note (1) 1 25 Key 3/16” x 3/16” x 1/2” 345803 2
12 Gasket Junction Box note (1) 1 26 Key - Woodruff #9 345609 2
13 Foam Packing note (1) 1 27 Rotor 3Ph not sold separately 1
14 Wire Nut 73b - see notes (2) 450296 note (2) Rotor/Stator Assy 230/460 V 463500 1
14 Wire Nut 73b - see notes (2) 450296 note (2) Rotor/Stator Assy 575 V 463700 1
NOTE (1): 

Included with Rotor/Stator Assembly.

NOTE (2): Quantities for wire nuts based on voltage.

230V=4 each    460V=6 each    575V=3 each


	DEG-900-1200 1PH
	DEG-900-1200 3PH
	DEG-1300-2000 3PH
	DEG-2500-3000-3500 3PH



